

## **Oh weh, oh Schreck, die Klammer ist ja weg !**

---

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = -39$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = -13$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = -7$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = -5$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 5$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 7$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 9$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 13$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 17$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 50$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 53$$

$$(-3) \cdot 5 + 2 \cdot (-3) + 2 - 6 \cdot (-2) = 77$$